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Note: Answers may be written either in English or
in Hindi; but the same medium should be
used throughout the paper.
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Attempt any five questions.
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1. Evaluate the validity of the following statements :
(8) In the Harris-Todaro model, an increase in

the formal sector labour demand at a fixed

wage rate must lower the percentage of

people in the informal sector as a fraction of
urban labour force.
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(b)- If governments cannot tax on agriculture,
the supply curve of labour to industry in the

Lewis model is always upward sloping. 8,7
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What are the ethical principles underlying
measures of inequality ? Show that these

principles are exactly summarized in the concepl

of the Lorenz curve. Argue that if there are two
income distributions for which the Lorenz curves
do not cross, then the Gini coefficient and
coefficient of variation of these distributions
cannot disagree in measuring income inequality.
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(@) An important capability deprivation in many
parts of the world is with regard to higher
female mortality rates. Contrast these
differences across regions/countries and

comment on this aspect of gender inequality.

(b) Why do we need to be concerned about
inequality among the poor ? Describe poverty
measures which exhibit such distributional
sensitivity, 10,5
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Consider an economy in which people fall in
three income categories : poor, middle class and
rich. Their earnings are respectively $500, $2,000
and $10,000 per year. The savings rate for the
three groups are 0 percent, 25 percent and

20 percent respectively.

3 P.T.Q.



(a) Calculate the overall savings rate if
20 percent of the people are poor and 50

percent are in the middle class.

(b) Suppose that all grow&m in}iolvéé people
moving from the poor category to the
middle-class category. Will the overall
savings rate rise or fall 7 Calculate the
overall savings rate. Using the Harrod-
Domar model and assuming that population
growth is zero and all other variables are
exogenous, predict whether the resulting
growth rate will rise or fall.

(¢) Outline another growth scenario where the
rate of growth changes over time in a way
opposite to that of (b).

(d) Explain what happens if the savings rate
is endogenous in the Harrod-Domar
model. .' 3345
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Societies everywhere have tried to establish
institutions where people have the incentives to
cooperatc and do business with one another,
Contrast the different contexts which support
agreements and enable cooperation in the
developing and developed worlds.
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6. In the dynamic nutrition model, use the energy
balance equation to show that the casual labour
market fails to improve the nutritional status of
workers. Explam how both employers and
employees are worse off in this market. 15
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7. (a) One of the ways an imperfect rural credit

market manifests itself is in the form of a
ceiling on loans. Explain why this
phenomenon may come about. In particular
why is it that a higher interest rate cannot
always compensate for the possibility of a
default and that a credit limit needs to be
set, ?

(b) Why is a strategy of group lending better
than a strategy of lending to individuals ?
What are some disadvantages of group
lending ? 8,7
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8. In the context of the globalization debate, there
has been far more ‘c(')ntroversy regarding capital
account liberalization than there has been about

current account liberalization. Discuss the major
~ issues relevant to this debate. 15
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